ALK A

AFLE @ FR29%4HATH

T HOH K

BESIET 4 T H AR IH T

T F %

6 J3l) T WS 3t T 4

T %= & jl

R T5 ik | T4 AL

HEET xJE (t=3cm)
#FJE (t =4cm)
#JE (t =5cm)
Hfg (t =6cm)
FEKsE (t =9cm)

A=33Tm
A=224m
A= 9m
A= 1Tm
A= 18m

OTHFRHI - &Lk T8 R

SNTNDHD,

QBBITHNICEETT o NE2FRi>TWH H D,

A L H

FR294F4 A 14H

THEERKTEH LR 294-6 A 30 H

T OE Al A

2,894, 400

7oK & % 2,775, 600

K EH LN

Ehaix RSt =WSIE PUTRAESIEE  HRE HEsE

(E= AT

ST HOMHET2 T H4F 1=

AHLE

75 1 [ AALAE (1) 75 2 [ AALAE (1)

1| &b

Mt

2,600, 000

2 | ZEh ek

Mot =WSIE

AL 2,570,000




